

To, The Debenture Holders, Tata Capital Limited ("Issuer")

Subject: NOC for further issuance of proposed Secured Redeemable Non-Convertible Debentures (NCDs) of Rs. 5000.00 crores on a private placement basis.

This is with reference to the Listed, Secured, Redeemable, Non-Convertible Debentures, ("NCDs") issued by Tata Capital Limited ("Issuer") from time to time under various Debenture Trust Deeds (collectively referred to as "Existing DTD") wherein we would like to inform the Debenture holder/s ("Existing Debenture Holder/s") as per the latest BENPOS for the respective NCD issuances.

In relation to the above, we have been informed that the Issuer has proposed issue of Secured, Redeemable, Non-Convertible Debentures ("NCDs") of Rs.5000 Crores on Private Placement basis, over the same 'Security' which has been provided to the Existing Debenture Holders under the Existing DTD.

In this connection, please be informed that as per the covenants under the Existing DTD executed for the various NCD issuances, the Issuer shall not create any further encumbrances on the Security, except with the prior consent / NOC of the Debenture Trustee. In the event of receipt of such request by the Issuer and upon receipt of a Chartered Accountant certificate suggesting that even after creation of such further charge on the Security the Security Cover required under the Existing DTD shall continue to be maintained, as per the requirements of the applicable SEBI regulations, Debenture Trustee is required to provide 5 working days to the Existing Debenture Holders and seek their approval for creation of further charge.

Accordingly, please note that the Issuer has submitted to us a Stock Statement as on June 2024 /Security Cover Certificate (as attached), which indicates that there is sufficient security / surplus assets available for the Existing DTD and propose issuance of Rs.5000 Crores.

In light of the above, considering the stipulated Security Cover as stated under the Existing DTD is maintained, there is no specific requirement for Vistra to obtain 'consent' from the Existing Debenture Holders under the Existing DTD, prior to providing the NOC to the Issuer for proposed issue of Secured, Redeemable, Non-Convertible Debentures ("NCDs") of Rs.5000 Crores on private placement. However, irrespective of the same as a prudent trustee and as per the requirement under the applicable law, we would hereby inform you of receipt of the said request from the Issuer for proposed private placement issue. Kindly note that this is for your information and records, and we await your objection/observation, if any, within 5 working days.

In case of any additional information required, please feel free to contact us. We will assist you with the same and facilitate the response to your queries from the Issuer.

Thanks & Regards Vistra ITCL (India) Limited | Trust Operations



15-Jul-24 Vistra ITCL (India) Limited Plot C-22, G Block, Bandra -Kurla Complex, Bandra East, Mumbai - 400 051

IDBI Trusteeship Services Limited Asian Building, Ground Floor 17, R. Kamani Marg Ballard Estate Mumbai - 400 001

Sub: Stock Statement as on 30th June 2024

Dear Sir,

As of June 30, 2024 the total secured borrowings of the company were as detailed below:

	Sanctioned Amount / Availed
O/s CC/OD/WCDL	(D- : 0
O/s Term loans	(Rs. in Crore)
O/s Long term Debentures	9,112.73
Total outstanding 6	47,481.18
Total outstanding facilities	29,454.81
Asset required to per-	86,048.72
Asset required to secure the above facilities	
	94,167.77
The available asset as on June 30, 2024 (as per table below)	
Surplus assets available for above facilities	1,13,442.80
a variable for above facilities	
Jnutilized Working Capital Lines	19,275.03
Asset allocation required for above	
resort and cation required for above	8,834.50
	8,707.58

The available asset cover as on June 30, 2024:

Receivables Net of NPA contracts ¹	Rs. in Crore
Liquid assets (Cash/Investmente)2	1,10,668.47
Immovable property located at B2 Daloy, Flat	2,772.00
Complex, Majiwada, Thane(W) – 400610 (at cost) Immovable property loacated at 1702, Bella Vista of "Oswal Park", Thane West,	0.42
otal available asset cover	.1.91
Contracts representing above receivables are sourced at various brooks of the	1,13,442.80

1 Contracts representing above receivables are sourced at various branches/offices of the Company and the data is available in the IT system(s) used by the Company

2 Investments do not include investments maintained for complying with LCR guidelines or other statutory guidelines which require such investments to be unencumbered.

Kindly note that with regards to receivables, while we have segregated the contracts lender wise, all lenders hold paripassu charge on the receivables. This segregation is only to facilitate internal procedures and not to be construed as specific charge on specific receivables. The above mentioned immovable property valued at Rs 0.83 Crs for Neelkanth and Rs.1.91 Crs for Bella Vista, based on latest Valuation Report, is available as security on paripassu charge to lenders as mentioned in respective transaction documents.

Thanking You

Yours Sincerely

For TATA CAPITAL LIMITED

Authorised Signatory

Bharresh 15.07.2024

TATA CAPITAL LIMITED

Corporate Identity Number U65330MH1391FLC060670

11th Floor Tower A Peninsula Butiness Park Ganzatrao Kadam Marg Lower Parel Mumbal 409 013

Tel 91 22 6606 9000 Web with totocapital com

Registered Office 11th Floor Tower A. Peninsula Business Park. Ganphtrap Kadam Marg. Lovier Parel. Mumbai 400,013



15-Jul-24 Vistra ITCL (India) Limited Plot C-22, G Block, Bandra -Kurla Complex, Bandra East, Mumbai - 400.051

IDBI Trusteeship Services Limited Asian Building, Ground Floor 17, R. Kamani Marg Ballard Estate Mumbal – 400 001

Sub: Stock Statement as on 30th June 2024

Dear Sir,

As of June 30, 2024 the total secured borrowings of the company were as detailed below:

	Sanctioned Amount / Availed (Rs. in Crore)
O/s CC/OD/WCDL	9,112.73
O/s Term loans	47,481.18
O/s Long term Debentures	29,454,81
Total outstanding facilities	86,048.72
Asset required to secure the above facilities	94,167.77
The available asset as on June 30, 2024 (as per table below)	1,13,442.80
Surplus assets available for above facilities	19,275.03
Unutilized Working Capital Lines	8.834.50
Asset allocation required for above	8,707.58

The available asset cover as on June 30, 2024:

	Rs. in Crore
Receivables Net of NPA contracts ¹	1,10,668.47
Liquid assets (Cash/Investments) ²	2,772.00
Immovable preperty located at B2-Daisy, Flat no. 202, Neelkanth Greens Complex, Majiwada, Thane(W) – 400610 (at cost)	0.42
Immovable property loacated at 1702, Bella Vista of "Oswal Park", Thane West, Thane 400 610	1.91
Total available asset cover	1,13,442.80

- 1 Contracts representing above receivables are sourced at various branches/offices of the Company and the data is available in the IT system(s) used by the Company
- 2 Investments do not include investments maintained for complying with LCR guidelines or other statutory guidelines which require such investments to be unencumbered.

Kindly note that with regards to receivables, while we have segregated the contracts lender wise, all lenders hold paripassu charge on the receivables. This segregation is only to facilitate internal procedures and not to be construed as specific charge on specific receivables. The above mentioned immovable property valued at Rs 0.83 Crs for Neelkanth and Rs.1.91 Crs for Bella Vista, based on latest Valuation Report, is available as security on paripassu charge to lenders as mentioned in respective transaction documents.

Thanking You

Yours Sincerely

For TATA CAPITAL LIMITED

Authorised Signatory

15/07/2024

TATA CAPITAL LIMITED

Corporate Identity Number USS NC-MH 1991PLC069679

11th Floor Tower A Peninsula Business Park Garpatrao Kadam Mang Lower Parel Mumbai 400 013

Tel 91 22 6506 9000 Web warm to to capital room

Registered Office 11th Floor Tower A. Peninsula Business Park Gospot ac Wadom Mang Lower Parel Munities 400 013

Secured Loans from Banks

(A)

For STA Dailed 15th January 2008 - Rs. 15000 Crores **
(Rs. In Crore)

				(MS. M. Little)			-
Name of the Bank	Nature of Facility	Sanctioned Amount as on 30.05.2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30:06.2024	Unufilized Amount	Asset Cover Required on Outstanding Amount
Indian Bank (eAlishabad Bank)	COWCDL	200.00	1.05	210.00	200.00	0.00	210.00
Axis Bank	CC/LOC/OD	125.00	1.10	137.50	0:00	125.00	0,00
Bank of America	WOOL/OD/MTL	300.00	1.10	330.00	300.00	0.00	330.00
Bank of Baroda	COWCDL	250.00	1.11	277.50	250.00	0.00	277.50
Bank of Baroda	LOCAVODL	400.00	1,11	444.00	350.00	50.00	388,50
Bank of India	CCAVCDL	250.00	1.20	300.00	150.00	100.00	180.00
Central Bank of India:	OD/WCOL	300,00	1.05	315.00	0.00	300.00	0.00
Union Bank of India (eCorporation Bank)	WCDL	-100.00	1.05	105.00	0.00	100:00	0.00
DBS Bank Limited	ODWCDL	100.00	1.10	110,00	0.00	100,00	0,00
HDFC Bank Limited	CCANCOL	200.00	1.33	266.00	0.00	200,00	0.00
HSBC Bank	OD/WCDL	50,00	1.10	55.00	0.00	50.00	0.00
Karnataka Bank Ltd	CCAWCDL	50.00	1.05	52.50	45.00	5,00	47:25
Kolak Mahindra Bank/ING Bank	Non Fund based	500.00	1,10	550.00	0.00	500.00	0,00
Punjab National Bank	CCANCOL	500.00	1,11	555.00	500.00	0.00	555.00
State Bank of India	CCMCDL*	900,000	1.34	1,206,00	200.00	700.00	1,206,00
UCO Bank	CCAWCOL	300,00	1.05	315.00	150,00	150.00	157.50
Union Bank of India	LOCAWODL	500.00	1.05	525.00	400.00	100,00	420.00
Total		5,025.00		5,753.50	2,545.00	2,480.00	3,771.75

* Asset cover provided on sanctioned amount & Rs 500 crs utilized in the form of CP

Secured Loans from Banks

For STA Dated 19th January 2018 - Rs. 15000 Crores **

Name of the Bank	Nature of Facility	Sanctioned Amount as on 30.06:2024	Maryin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30.06.2024	Unufflized Amount	Asset Cover Required on Outstanding Amount
Aris Bank	LOC/OD/WCDL	200 00	1,10	220.00	0.00	200.00	0.00
Deutsche Bank	WCDL	200,00	1,10	220.00	0.00	200.00	
Industrid Bank	CCANCELLOC	20.00	1.10	22,00	0.00	20.00	0.00
Bank of America	MCDLOD	200,00	1.10	220.00	0.00	200.00	
Total		620,00		582,00	0.00	620.00	0.00

Secured Loans from Banks

(C) For STA Dated 31st August 2018 - Rs. 15140 Crores **

Name of the Bank	Nature of Facility	Sanctioned Amount as on 30.06.2024	Maryin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30.06 2024	Unufflized Amount	Asset Cover Required on Outstanding Amount
ICICI Bank Ltd	CCAVCOULC	400.00	1.10	440.00	0.00	400.00	0.00
Sumilamo Mitsul Banking Corpn	STL	100.00	1.05	105,00	0.00	100.00	0.00
HOFC Bank Limited	WCDL	600,00	1.11	666,00	0.00	600.00	0.00
Chibank N.A.	WCDL	200.00	1.05	210.00	200.00	0.00	210.00
Citibank N.A.	WCDL	420,00	1.05	441.00	400.00	20,00	420.00
Total		1,720.00		1,862.00	600.00	1,120.00	639.00
Bank of India	Term Loan	125.00	1.10	137.50	125.00	0,00	137,50
State Bank of India	Term Loan	166.67	1.20	200.00	166,67	0.00	
Total		291.67		337.50	291.67	0.00	337.50

Secured Loans from Banks

For STA cum David of Hypotherulian Dated 19th December 2019 - Rs. 15000 Croses **

Name of the Bank	Nature of Facility	Sanctioned Amount as on 30.06,2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30 06 2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
Barcleys Bank Plc	WCDL	210.00	1.00	210.00	0.00	210.00	0.00
ICICI Bank Ltd	LC	200.00	1.10	220.00	0.00	200,00	0.00
SIDBI	Term Loan	208.00	1.10	228.80	208.00	0.00	228.80
SIDBI	Term Loan	168.00	1.10	184.80	168.00	0.00	184.80
Total		786.00		843.60	376.00	410.00	413,60
HDFC Bank Limited	Term Loan	0.00	1.11	0.00	0.00	0.00	0.00
HDFC Bank Limited	Term Loan	0.00	1.11	0.00	0.00	0.00	0.00
HDFC Bank Limited	Term Loan	104.17	1.11	115.83	104.17	0.00	
HDFC Bank Limited	Term Loan	41.67	1,11	46.25	41.67	0.00	
ICICI Bank Ltd	Temt Loan	87.50	1.10	96.25	87.50	0.00	
Indusind Bank	Term Loan	500.00	1.10	550.00	500.00	0.00	550.00

(D)

For TATA CAPITAL LIMITED

Authorised Signatories

Punjab National Bank	Term Loan	1,000.00	1.11	1,110.00	1,000,00	0.00	1,110,00
Kamataka Bank Ltd	Term Loan	100.00	1.05	105.00	100.00	0.00	105.00
Bank of India	Torm Loan	75,00	1.10	82:50	75.00	0.00	82.50
ICICI Bank Lld .	Term Loan	250,00	1,10	275,00	250.00	0.00	275.00
Punjab National Bank	Term Loan	250,00	1,11	277.50	250.00	0.00	277.50
UCO Bank	Term Loan	166.67	1.05	175.00	166.67	0.00	175.00
Syndication Loan2 **	ECB Loan	1,487.45	1.05	1,540 82	1,467.45	0.00	1,540.82
Total		4,042,45		4,373.94	4,042.45	0.00	4,373.94

"Canara Bank/Indian Bank/Union Bank of Irea a/HSBC

For STA cum Deed of Hypothecation Deled 11th March 2022 - Rs. 15,000 Crores **

Name of the Bank	Nature of Facility	Sanctioned Amount as on 30 06 2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30.05.2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
Canara Bank	Term Loan	143.75	1.11	159.56	143.75	0.000	159.58
Bank of India	Term Loan	333.33	1 10	366.67	333.33	0.000	365.67
Mizuho Bank Ltd / Export Development Canada	ECB Loan	1,014,23	1.05	1,064,94	1,014.23	0.000	1,064.94
HDFC Bank Limited	Term Loan	375.00	1,11	416.25	375.00	0.000	416.28
Jammu & Kashmir Bank Ltd	Term Loan	250.00	1.10	275.00	250.00	0.000	275.00
Indian Bank (eAflahabad Bank)	Term Loan	100.00	1.05	105.00	100.00	0.000	105.00
State Bank of India, Hongkong	ECB Loan	870.33	1.20	804.39	670,33	0.000	804.39
South Indian Bank	Term Loan	112.50	1:05	118.13	112.50	0.000	118,13
Ciribank N.A.	Term Loan	82:50	1.00	82.50	27.50	55,000	27.50
Indian Bank (eAllshabad Bank)	Term Loan	525.00	1.05	551.25	525.00	0,000	551.25
Union Bank of India	Term Loan	374 99	1.10	412.49	374.99	0.000	412.49
HDFC Bank Limited	Term Loan #	450.00	1,11	199.50	450.00	0.000	499.50
Bank of America	ECB Loan	416.69	1.10	458 50	416,89	0.000	458.58
Canara Bank	Term Loan	666.67	1.11	740,00	668.67	0.000	740.00
Total		5,515.19		6,054.26	5,460.19	55,00	5,999.26
ICBC	IWCDL T	0.00	1.05	0.00	0.00	0.00	0.00
ICICI Bank Ltd	STL	1,000.00	1.10	1,100,00	1,000.00	0.00	1,100.00
SIDBI	Term Loan	333.36	1.10	366.72	333.38	0.00	366.72
SIDBI	Term Loan	583.35	1.10	641.69	583,35	0.00	841.61
IGICI Bank Ltd	Non fund	200.00	1,10	220,00	0.00	200.00	0.00
Total		2,116,73		2,328.40	1,916.73	200.00	2,108.40

Secured Loans from Banks

For STA cum Deed of Hypothecation Daled 30th December 2022.- Rs. 15,000 Crores **

Name of the Bank	Nature of Facility	Sanctioned Amount as on 30 06,2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30.06.2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
HDFC Bank Limited	Term Loan	500.00	1.11	555.00	500.00	0.00	555.00
HDFC Ltd	Term Loan	2.104.17	1.10	2,314.58	2,104,17	0.00	2,314.58
HDFC Bank Limited	Term Loan	875,00	1.11	971.25	875.00	0.00	971.25
Sumitomo Mitsui Banking Corporation	ECB Loan	853.92	1,05	875.62	833.92	0,00	875.62
Export Development Canada	ECB Loan	849,06	1.05	886,37	845.06	0.00	888.37
Indian Bank (sAllahabad Bank)	Term Loan	477.27	1.05	501.14	477.27	0.00	501.14
Punjab National Bank	Term Loan	800.00	1.11	00.008	800,00	0.00	888.00
DBS Bank Limited	ECB Loan	1,257,97	1.05	1,320.87	1,257.97	0.00	1,320.87
Canara Bank	Term Loan	666,67	1,11	740.00	666,67	0.00	740,00
Total		8,361.07	0 1	9,054,83	8,361.07	0.00	9,054,83
ICICI Bank Ltd	STL	2,000.00	1,10	2,200.00	0.00	2,000.00	0.00
Total		2,000.00		2,200.00	0.00	2,000.00	0,00

Secured Loans from Banks

For STA cum Deed of Hypothecation Dated 16th June 2023 - Rs., 15,000 Groves ** (G)

Namo of the Bank	Nature of Facility	Sanctioned Amount as on 30.06,2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30.06.2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
HDFC Bank Limited	Term Loan	583 33	1.11	647.50	583.33	0.00	647.50
HDFC Bank Limited	Non Fund	100.00	1.11	111.00	0:00	100.00	0.00
Kamalaka Bank Lld	Term Loan	200.00	1.05	210.00	100.00	100.00	105.00
Bank of Baroda	Term Loan	1,562.52	1.11	1,734.40	562,52	1,000:00	624.40
HDFC Bank Limited	Term Loan	979,17	1,11	1,086.87	979 17	0.00	1,066,87
ICICI Bank Ltd	Term Loan	187.50	1.10	206.25	187.50	0,00	206 25
Punjab Nefional Bank	Term Loan	850,00	1.11	943.50	850.00	0.00	943.50
Union Bank of India	Term Loan	1,583.33	1.10	1,741.67	1,583.33	0,00	1,741,67
HDFC Bank Limited	Term Loan	625.00	1.11	693.75	625;00	0.00	693.75
Syndication Loan3 **	ECB Loan	545.94	1.05	573.23	545.94	0,00	573,23
Indian Bank (eAliahabad Bank)	Term Loan	490.91	1.05	515.45	490.91	0.00	515.45

For TATA CAPITAL LIMITED

for James Authorised Signatories

		000000	1.10	290.71	264.29	0.00	290.71
Yes Bank Limited	Term Loan	254.29		98.25	87.50	0.00	96.25
ICICI Bank Ltd	Term Loan	87,50	1 10		121,88	0.00	134.06
HSBC Bank	Term Loan	121.88	1.10	134.06		0.00	1,100.00
Bank of India	Term Loan	1,000.00	1.10	1,100.00	1,000.00		100.00
Citibank N.A.	Term Loan	200.00	1.00	200.00	100.00	100,00	100.00
			-	10,284.65	8,081,36	1,300.00	8,858.65
Total		9,381.36		10,404.00	4,000,100		
	Tel Control	1,300,00	1.10	1,430,00	1,300.00	0.00	1,430,00
SIDBI	Term Loan	450.00	1.10	495.00	450.00	0.00	495.00
SIDBI	Term Loan			105.00	80,00	20.00	84.00
ICBC	WCDL	100.00	1.05		350,00	850.00	385.00
Deutsche Bank	STL	1,000.00	1.10	1,100.00	320.00		
		2,850.00	-	3,130.00	2,180.00	670.00	2,394.00
Total		2,000.00		71			

** MUFG/ Tolwan Business Bank/Chang Hwa Bank/Mega International Commercial Bank

Secured Loans from Banks

For STA cum Deed of Hypothecason Daled 11th December 2023 - Rs. 15,000 Crores

Name of the Bank	Nature of Facility	Sanctioned Amount as on 10.08.2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 30 06.2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
			1,10	3,850.00	3,500.00	0,00	3,850.00
State Bank of India	Term Loan	3,500:00		462.50		0.00	462.50
HDFC Bank Limited	Term Loan	416.67	1.11	1,017.50		0,00	
Canara Bank	Term Loan	918.67	1,11		1,145.83	0.00	
HDFC Bank Limited	Term Loan	1,145 83	1.11	1,271.87	1,682,86	0.00	
Syndication Loan4 **	ECB Loan	1,682.86	1:05	1,767.01		0.00	
National Bank for Financing Infrastructure and Devi	Term Loan	2,000.00	1.10			0.00	
Canara Bank	Term Loan	2,000.00	1.11	2,220.00		0.00	
ICICI Bank Ltd	Term Loan	100.00	1,10	110.00	100.00	0,00	7.10,0
		11,762.03		12,898.88	11,762.03	0.00	12,898.8
Total				4 275 00	1,250.00	0,00	1,375,00
ŞIDBI .	Term Loan	1,250.00	1.10	1,375.00	1,250.55		
Total		1,250.00		1,375.00	1,250.00	0.00	1,375.0

***DBS Bank, Bank Sirupes, Far Eastern, Bank of Turwan, KFH Hana Bank. Hun Nan Com Bank
****CTBC Bank, Taishan International Bank, Chang Hwe Bank, First Commercial Bank,
****CTBC Bank, Taishan International Bank, Chang Hwe Bank, First Commercial Bank,
***The Korea Development bank, Taiwan Corporative Bank, Taiwan Shin kong Com Bank, Sunny Bank, Taichung Com Bank, The Shanghat Commercial Bank

Secured Loses from Banks	(1)	For STA pending for	r execution:				
Name of the Bank	Nature of Facility	Sanctioned Amount as on 30.05.2024	Margin (Times)	Asset Cover Required on Drawable Limit	Outstanding Balance as on 39.06.2024	Unutilized Amount	Asset Cover Required on Outstanding Amount
HDFC Bank Limited	Term Loan	750.00	1,11	932,50	750.00	0,00	832,50
HUFC Bank Limited	Tom Spin				750.00	0.00	832.50
Total	-100	750.00		832,50	750.00	0.00	932.3

SUMMARY							Asset
	5TA	Sanctioned Amount as on 30.06.2024	Asset Cover Required on Sanctioned Amount	Outstanding Belance as on 30 05 2024	Asset Cover Required on Outstanding Amount	Unutilised Lines	allocation required for Unutilised Lines
	(A)	5,025.00	5,753.50	2,545.00	3,771.75	2,480.00	1,981.75
CCWCDL	(A)	620.00	682.00			620.00	682.00
CCMCDL	(B)	1,720.00	1,862,00	600.00	630.00	1,120.00	1,232.00
CCMCDL	(c)	786.00	843.60	376,00	413,60	410.00	430.00
CCMCDL	(D)	2,116,73	2,328.40	1,916.73	2,108,40	200,00	220.00
CC/WCDL	(E)	2,000.00	2,200,00	1,0101-0	-	2,000.00	2,200.00
CC/WCDL	(F)		3,130.00	2,180.00	2,394.00	670,00	736.00
CCMCDL	(G)	2,850,00	1,375,00	1,250.00	1,375.00		-
CCWCDL	(M)	1,250.00	1,3/5.00	1,200.00			
Total (I)		16,367.73	18,174.50	8,867:73	10,692.75	7,500.00	7,481.75
				217.10	337 50		
Term Loan	(C)	A 1		291.67	4,373.94		2
Term Loan	(D)			4,042,45			
Term Loan	(E)			5,460.19	9,054.83		-
Term Loan	(F)	XVIII - L		8,361.07			-
Term Loan	(G)	N. Carlotte		8,081,36	12,898.88	-	
Term Loan	(H)	A Comment		11,762.03			
Term Loan	(1)	TV CONTRACTOR		750.00	832,50		
Total (II)		•		38,748.76	42,355.57		
				27,708.81	29,171,31		
NCDs (iii)		-		217. 4310.1			
Grand Total (i)+(ii)+(iii)				75,325,30	82,219.63	7,500.00	7,481.7

FOR TATA CAPITAL LIMITED

Authorised Signatories

Servined Loans from Banks (A) For STA Daled 27th March 2015 - Rs. 2005 Court

Secured Loans from Banks	Nature of Facility	Security of America as on 20.04 2024	Margin on Sanctimed Amount (Times)	Asset Cover Required on Sensitived Amount (30.06.2034)	Ontetanding Raterice as en 36 36 7024	Undrawn Amount	Asset Cover Required on Outstanding Amount (20 at 2024)
HOFC Bank Ltd	CCAVCOL	25 00	1.33	33.93		25 00	
Indian Bank (edilahahad Bank)	CCAMCOL	150.00	1.05	157,50	145.00	5.00	152.25
Bank of Baroda	CCMICOL	50.00	1.11	55.50		50.00	1-
Axis Bunk Ltd	LoC/OD	125.00	1.10	137.50	18	125.00	- 4
Bank of India	COMICDL	100.00	1.10	110.00		190.00	
Total		450.00		493.63	145.00	305.00	152.25

Rs. In crere

(E) For STA Dated 18th March 2016 - Rs. 2000 Cours Asset Cover Required on threed Area (20 06 2024) 300.00 cowcor.

Total 300.00
* Asset cover provided on senctioned amount & Rs 100 ers utilized in the form of CP

Secured Loans from Banks	(C) For STA Culyd	Not August 2018 - Rs. 30	MO Crures				Rs. In coors	
Secured Lawre from Banks	Hature of Facility	Semilimed Assemble as 0x34 84 2024	Margin on Senctioned Amount (Texas)	Asset Coyet Required on Sensitived Amount (30.05.2024)	Containeding Balance as . pn36,64,2624	Und ann Amount	Asset Cover Required on Contracting Amount (10.05,2024)	
NABARD	Term Loan	551,52	1.10	506.68	551.52		606.68	
Total		551.52		696.69	561.52	-	606 68	
Berrix of Sarode	CCAWCOL	100.00	1.11	411.00	5*	100.00		
Sumitorno Mitsui Banking Corpn	STL	137.00	1.00	137.00	•	127.00		
Total		237.00		246.00		237.00		

Secured Loans from Banks	(D) For STA Comed 20 of June 2020 • Rs. Smith Counts Rs. In come									
Served Loans from Benky	Malure of Facility	Sent in a filter and as on to se 2024	Mergin on So it d Amount (Times)	Asset Count Required on Section of America (30 06 2624)	Curstanding Balance as an30.46.2024	Underen Amount	Asset Cover Required on Oversending Amount (38 oc 2024)			
UCO Bank	Tenn Loan	56.25	1.05	59.06	56.25	-	59.06			
India Infrastructure Finance Company Limited	Term Loan	0.00		0.00		-				
HDFC Bank Ltd	Term Loan	79,17	1,11	87.60	79.17		87.86			
Puniab National Bank	Term Loan	200.00		222.00	200.00		222,00			
Bank of Balwain & Kirwall BSC	Term Loan	26.67	1.00	28,67	26 57		25.67			
Emirates NBD Bank	Term Loan	57.13	1.10	82.84	57.13		62.84			
Elanik of India	Term Loan	125.00	1.10	137 50	125.00		137,50			
India Infrastructure Finance Company Limited	Term Loan	250.00	1,25	312.50		5-00-00	312,50			
Japan Informational Compension Agency	ECS Loan	519.20	1,00	530,40	519,20	45	519.20			
British Informational Incomment PLC	ECB Loan	252.07	1,05	265,51	252,87	-	265.51			
Total		1,510.29		1,704:36	1,556 29		1,693,16			
HSDC	WCDL	200.00	1.10	220.00	- 2	250.00				
CTBC Bank Co Ltd	STL	30.00	1.00	30.00		30.00	•			
Mizuho Benk Lld	STL	112,50	1.10	123.75	14	112.50				
Sociele Generale	WCDL-	250.00	1.05	262,50		250.00				
Total		592,50		636.25	-	592.50				

Deed of Accession pending

FOR TATA CAPITAL LIMITED

Authorised Signatories

Secured Leans from Banks	(E) For STA Colors	166-June 1021 - Rs. 100	Se Chines			Ra. In crove							
Secured Loans from Banks	Nature of Facility	24 cm 20 .04 .2024	Margin on Seperioned Amount (Times)	Arnel Couer Required on Sectional Amount (30.06.2024)	Outstanding Solence as an38.68.2024	Undrawn Amount	Asset Cover Required on Delstanding Amount (20 04 2024)						
		100.00	1.05	105.00	100.00	-	105.00						
Indian Bark (eAlishabad Bark)	Term Loan	250.00	1.25	312 50	250.00	1.01	312.50						
India Infrastructure Finance Company Limited	Term Loan		1.25	229 33	208.48	-	229 33						
Bank of America	ECB Loan	208,48		444 00	400.00		444.00						
Punjeb National Benk	Term Loan	400.00	1.11			_	542,82						
CTBC Bank Co Ltd	ECB Loan	542.82	1.00	542.41	542.92								
State Bank of India	Term Loan	416.67	1.10	458.33	416.87	-	458 33						
The Jammy & Knelweir Bank	Term Loan	250,00	1,10	275.00	250.00		275.00						
India Infrastructure Finance Company Limited	Term Loan	1,000.00		1,250.00	1,000.00		1,250.00						
National Bank for Financing Infrastructure and Deve	Term Loan	1,500.00	1.10	1,650.00	1,500.00		1,650.00						
HDFC Bank Ltd	Term Loan	41 87	1.11	40.25	41.67		46,25						
HDFC Benk Ltd	Term Loan	41.57	1.11	48 25	41.57		46,25						
HDFC Bunk Ltd	Term Linear	41.67	1.11	46.25	41.67	- Ba	46.25						
HDFC Bank Ltd	Term Lean	12.50	1.11	13 88	12.50		13.66						
HDFC Bank Ltd	Term Loan	125.00	1.11	138,75	125.00		138.75						
Export Import Bank of India	Term Loan	300.00	1.10	330.00	300.00		330.00						
EMIRATES NBD BANK (P.J.S.C.) and RAK Bank	ECB Loan	946.92	1.10	1,063.62	966.92		1.063.62						
CTBC Bank Co Ltd	ECB Load	417.22	1.05	542.41	417,22	-	438,06						
Total		6,614.61		7,493,98	5,614.61		7,390.00						
				0.00			- 8						

SUMMARY							Ra; in crore
	STA	Sanction of America are made of 2004	Arrest Cover Required on Sanctioned Amount (on 04,2624)	Continueding Balance as ando 64, 2024	Asset Cover Required on Outside Egy Americ (30.00 (004)	Unutlised Lines	Asset efforation required for Unuffixed Lines (26.66.2024)
CC/WCDL	(A)	450.00	493.83	145.00	152.25	305.00	341.58
CC/WCDL	(8)	300.00	330.00	100.00	330.00	200.00	
CCAVCOL	(C)	237.00	248.00	121		237,00	246.00
COWCDL	(D)	592.50	636,25			592.50	636,25
CC/WCDL	(E)	4	- 1				4
-Total (I)		1,579.60	1,708.08	245.00	482.25	1,334 50	1,225.83
Term Loan	(C)			551.52	606.60		
Term Loan	(D)			1.545.29	1,693.16		
Tenn Loan	(E)			5,514,61	7,390.05		~
Total (li)				8,732.42	9,609.89		
NCOs (III)				1,746.00	1,776.00		
Grand Total (i)+(ii)+(iii)				10,723,42	11,948.14	1,334.50	1,225.83

For JATA CAPITAL LIMITED

Authorised Signatories



Debenture Series	Outstanding Balance as on 30.06.2024	Margin (Times)	(Rs. in Crore) Asset Cover required on O/S Amount (30.06,2024)	DTD
TCFSL NCD "AA" FY 2014-15	95,00	1.00	95 00	DTD 10-11-20
TCFSL NCD "AF" FY 2014-15-Option-I	75.00	1.00	75.00	DTD 10-11-20
TCFSL NCD "H" FY 2018-19 Option - II	112.00	1.00	112.00	DTD 10-08-20
TCFSL NGD "H" FY 2018-19 Online - II - Reserve	23,00	1.00	22.00	DTD 10-08-20
ICESI NCD "H" FV 2018-10 Poster II - Palestrane	55.00	1.00		
TCFSL NCO "E" FY 2019-20 option -I	30.00	1,00	33,00	DTD 10-08-20
TUPSL NCD F FY 2019-20 OPTION - I		1,00		DTD 25-01-20
TCFSL NCD "F" FY 2019-20 Option-I Reissuance 1	273.00	1.00		DTD 25-01-20
NCD Public issue : Series II Tranche II - Category I & II	100.00	1.00	100,00	DTD 25-01-20
NCO Public Issue Control II Transiti II - Category I & II	97.71	1.00	97.71	DTD 10-09-20
NCO Public Issue : Series II Tranche II - Calegory III & IV	340.92	1.00	340,92	DTD 10-09-20
NCO Public issue : Series III Tranche II - Calegory I & II	92.48	1.00	92,48	DTD 10-09-20
NCD Public Issue : Series III Tranche II – Cetegory III & IV	600.39	1,00		DTD 10-09-20
ICESI NCD "H" FY 2019-20	100.00	1.00	100.00	DTD 25-01-20
TCFSL NCO "E" Series FY 2019-20- Option - I - Reinsue No.1 TCFSL NCO "L" Series FY 2019-20 TCFSL NCO "US Series FY 2019-20	35.00	1.00	35:00	DTD 25-01-20
TCFSL NCD "L" Series FY 2019-20	1,000,00	1.25	1.250.00	OTD 10-10-20
TCFSL NCD "B" Series FY 2020-21-Option-II	40.00	1,00	40.00	OTD 10-10-20
TCFSL NCD "E" Series FY 2021-22	700.00	1.25		
TCFSL NCD "E" Series FY 2021-22 Relissue No.1	400.00		8/5.00	OTD 22-07-20
TOFSL NCD "D" Series FY 2021-22		1.25	500.00	OTD 22-07-20
	200,00	1.00	200,00/0	OTD 22-07-20
TCFSL NCD "H" Series FY 2021-22	95.00	1.00	95.00	OTD 22-07-20.
TGFSL NCD "H" Series FY 2021-22 - Relissue No.1	219.00	1.00	219.00	OTO 22-07-20.
CFSL NCD "H" Series FY 2021-22 - Remaus No.2	50.00	1.00	50,00 [OTO 22-07-20
CFSL NCD "H" Series FY 2021-22 - Reinsue No.3.	85.00	1,00	85.00	OTD 22-07-20.
TCFSL NCD "H" Series FY 2021-22 - Reliaue No.3. TCFSL NCD "I" Series FY 2021-22	1,250.00	1.25		TD 06-12-20
CFSL NCD "A" Series FY 2022-23 - Option-II	181.00	1:00		TD 08-12-20:
CFSL NCD "B" Series FY 2022-23	290,00	1.00		TD 06-12-20
GFSL NCD "C" Series FY 2022-23 - Option - I	250,00	1.00	250.00	TD 06-12-20:
CFSL NCD 'D' Seines FY 2022-23 - Option - I CFSL NCD 'E' Series FY 2022-23 - Option - I CFSL NCD 'E' Series FY 2022-23 - Option - I CFSL NCD 'E' Series FY 2022-23 - Option - II	250.00	1.00	250,001	TD 06-12-20.
CFSL NCD "E" Series FY 2022-23 - Option - I	150.00	1.00	450.000	TD 22-07-20
CFSL NCD "E" Series FY 2022-23 - Option - II	475.00	1.00		
CFSL NCD "D" Series FY 2022-23 - Option - II - Revissue No.	325.00	1,00		TD 22-07-20:
CFSL NCD "F" Series FY 2022-23			325.00(0	TD 22-07-202
CFSL Secured NCD G 2022-23	187.50	1.00	187.5011	TD 06-12-202
CFSL Secured NCD E 2022-23-Option-II Reissue No 1	164.00	1.00	164.00 [TD 10-08-202
CEST Secured NCD D 2022 22 Control II D	250.00	1.00		TD 10-08-202
CFSL Secured NCD D 2022-23-Option-II-Resiste No.2 CFSL Secured NCD H FY 2022-23	225.00	1.00		TO 10-08-202
CFSL Market Linked 'A' FY 2022-23	206.00	1.00		TD 10-08-202
CECI Convert NCD I EV 2022-25	43.00	1,00	43.00 D	TD 18-02-201
CFSL Secured NCD I FY 2022-23	35.00	1.00	35.00[0	TD 10-08-202
CFSL Secured NCD J FY 2022-23	500,00	1.00	500,00 D	TD 10-08-202
CFSL Secured NCD "E" FY 2022-23-Option-I-Reinsus No.1	111.00	1.00	111,00 D	TD 10-08-202
DFSL Secured NCD "K" FY 2022-23-Option-I DFSL Secured NCD "K" FY 2022-23-Option-II	50.00	1.00	56 00 D	TD 10-08-202
CFSL Secured NCD "K" FY 2022-23-Option-II	150.00	1.00	150.00 D	TD 10-08-202
FSL NCD "K" Series FY 2022-23 - Ontion-II - Reissue No. 11	200.00	1.00		TD 10-08-202
FSL NCO "J" Series FY 2022-23- Reitsue No. 1	250.00	1.00		TD 10-08-202
CESL NCD "K" Series FV 2022 22 Dollar II - Paisson No. 2	600.00	1.00		TD 10-08-202
FSL NCD "L" Series FY 2022-23	200,00	1.00		TD 10-08-202
CFSL NCD "M" Series FY 2022-23	500.00	1.00		
ESI NOD "LE COMP EV 2022 22	110,00	1.00	110.00	TD 10-09-202
FSL NCD "O" Series FY 2022-23-Option-1	130.00		110.0010	TD 10-08-202
FSL NCD "O" Series FY 2022-23-Option-II		1.00		TD 10-08-202
CFSL NCD "N" Series FY 2022-23 Reissue No.1	81.00	1.00		TD 10-08-202
FSL NCD "P" Series FY 2022-23 - STRPP - I	152.00	1.00	152.00 D	TD 10-08-202
FSL NCD "P" Series FY 2022-23 - STRPP - II	2,000.00	1.00		TD 02-03-202
CCI NOD POS C	20.00	1.00	20.00 D	TD 02-03-202
FSL NCD "O" Series FY 2022-23-Option-I - Relissue No. 1	180.00	1.00	180.00 D	TD 10-08-202
FSL Secured NCD 'B' Series FY 2022-23 Reissue No.1	240.00	1.00	240.00 D	TD 10-08-202
FSL NCD "A" Series FY 2023-24	610,00	1.00	610.00 D	TD 10-09-202
FSL NCD "B" Series FY 2023-23 - STRPP - I	3,000.00	1.00		TD 29-05-202
FSL NCD "B" Series FY 2023-23 - STRPP - II	30.00	1.00	30.00 0	D 29-05-202
FSL NCD "M" Series FY 2022-23 - Reissue No. 1	300,00	1.00	300 00 07	D 29-05-202
FSI NCO "F" Series FV 2022 22 Parents Ma 4	40.00	1.00	40.00 01	D 29-05-202
	243.70	1,00	243.70 03	D 29-05-2023
FSL NCD "D" Series FY 2023-23 - STREE - I	1,500.00	1.00		D 16-11-202
FSL NCD 'U Senes FY 2023-23 - STRPP - II	15,00	1.00		D 16-11-2023
FSL NCD "E" Series FY 2023-24	2,500,00	1.25		
FSL NCD UNLISTED FY 2023-24	1,925.00		3,125,00 D1	D 28-11-2023
L SECURED "A" FY 2023-24 VIS-M	242.10	1.00		D 14-12-2023
SECURED '8" EY 2022 24 VIS M		1.00		D 08-05-2023
L SECURED "6" FY 2023-24 VIS-M L SECURED "C" FY 2023-24 VIS-M	115.00	1.00		D 08-05-2023
MARKET I WINED DICO MI DI SANTI DE LA	1,640.00	1.00		D 08-05-2023
MARKET LINKED NCD 'A' FY 2024-25-VIS-M	750.00	1.00		D 14-03-2024
Secured "A" FY 2024-25 - VIS-M	416.00	1.00	416.00 DT	D 29-05-2023
FSL NCD "E" Series FY 2022-23- Option II-Reissue No.2	290.00	1.00	290,00 DT	D 06-05-2024
SECURED "A" FY 2023-24 VIS-M - Reissue No. 1	502.00	1.00	502.00 DT	D 06-05-2024
7,000,000				

For TATA CAPITAL LIMITED

Authorised Signatories

(India

Tata Capital Limited
Asset Coverage on Long term NCD - IDBI Trusteeship Services Limited
As on 30-trus-24

As on 30-Jun-24
Secured long term NCD For DTD dated September

For DTD dizied September 29, 2016 , December 5,2017 , December 11,2018, April 25,2019, September 13,2019, August 25, 2021 & February 20, 2023

	Rs. in crore							
Name of the Bank	Outstanding Balance as on 30.06,2024	Margin (Times)	Asset Cover Required on Outstanding Amount (30.06.2024)	Debenture Trust Deed Date				
TCCL NCD "C" FY 2017-18			9	- A				
	0,00	1.00		DTD 29-09-2016				
TCCL NCD "A" FY 2019-20	140.00	1.00	140,00	DTD 05-12-2017				
TCCL NCD "B" FY 2019-20	60.00	1.00	60.00	DTD 05-12-2017				
TCCL NCD "C" FY 2019-20	25.00	1.00	25.00	DTD 05-12-2017				
TCCL MLD A FY 2022-23	0.00	1.00		DTD 25-04-2019				
TCCL MLD B FY 2022-23	50.00	1.00	50,00	DTD 25-04-2019				
TCCL MLD B FY 2022-23 - Reissuance-1	161.00	1.00	161.00	DTD 25-04-2019				
TOOL MLD C FY 2022-23	50.00	1.00	50.00	DTD 25-04-2019				
TGCL NCD "A" FY 2020-21	175.00	1.00	175.00	DTD 13-09-2019.				
TCCL NCD "B" FY 2021-22	360.00	1.00	360.00	DTD 13-09-2019				
TCCL NCD "C" FY 2021-22	300.00	1.10		DTD 25-08-2021				
TCCL NCD "A" FY 2022-23	50.00	1.00	50.00	DTD 25-08-2021				
TCCL NCD UNLISTED "A" Series FY 2022-23	375.00	1.00	375.00	DTD 20-02-2023				
Total .	1,746.00		1,776.00					

For TATA CAPITAL LIMITED

Authorised Signatories

(F) 15/01/2024